10.02
o
9.018
>
$.016
(]

D.014

o
0.012

0.006
0.004
0.002

Efficiency vs P,

0,015_:::::Eé:::::::::é:::::::é:::
0.0082—-% ----- 4* ------------ ............ ............

10

Ratio

LA

1
1

_,, L

1(;’1 1 10 prT (Ge\})o3

MKFI_T1base

—=— DOQM_]

—e— DOM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter
—— DQM_mKFit_TT baseline_6iter

—— DOM_mkFit_TT RetrainV2_WP1_6iter

=0.05
[
Q.045
2
$0.04
[S]
$.035
o
0.03
0.025

0.02F-

0.015
0.0
0.005

................................................

o
= E
—ia— "

iy .

P e
=
o

——
H S
H H

Ratio
P
N




	Contents
	Page 1


